BOUNDEDNESS OF SOLUTIONS FOR IMPULSIVE DIFFERENTIAL EQUATIONS WITH INTEGRAL JUMP CONDITIONS*

Jing Shao^{$1,2,\dagger$} and Fanwei Meng³

Abstract The boundedness of solutions for certain nonlinear impulsive differential equations are obtained, the jumping conditions at discontinuous points are related to the integral of the past states, rather than a left hand limit at the discontinuous points. These results are obtained by new built impulsive integral inequalities with integral jumping conditions using the method of successive iteration.

Keywords Impulsive differential equation, boundedness, integral inequalities, integral jump condition, discontinuous function.

MSC(2010) 34C10, 26D10, 45A99.

1. Introduction

Impulsive differential equations are differential equations involving impulse effect, which appear as a natural description of observed evolution phenomena of several real world problems. The theories of impulsive differential equations are firstly researched by V.D. Milman and A.D. Myshkis in 1960s, and they take on a blooming research scene in recent years. They are widely used in many areas such as biological mathematics (they are used in characterizing the heart beats, blood flows, population dynamics), theoretical physics, pharmacokinetics, mathematical economy, chemical technology, electric technology and so on (see the monographs [1,2,9] and [15] for details).

In spite of their importance of impulsive differential equations, the development of the theory of impulsive differential equations is quite slow due to the special features possessed by impulsive differential equations in general. Among these results, differential inequalities and integral inequalities with impulsive effects play increasingly important roles in the study of quantitative and qualitative properties of solutions of impulsive differential systems. However, most of these results involved the impulsive effects are of point-discontinuous, i.e., jumping conditions at a sequences

[†]the corresponding author. Email address: shaojing99500@163.com(J. Shao)

¹Institute of Applied Physics and Computational Mathematics, No.6 Huayuan Road, Beijing 100088, China

 $^{^{2}\}mathrm{Department}$ of Mathematics, Jining University, No.1 Xingtan Road, Qufu 273155, Shandong, China

³School of Mathematical Science, Qufu Normal University, No.57 Jingxuanxi Road, Qufu 273165, Shandong, China

^{*}Project supported by NNSF of China (Grant Nos 11671227 and 11271225), NSF of Shandong (Grant No ZR2018LA004), and Science and Technology Project of High Schools of Shandong (Grant Nos J18KA220, J18KB107).

of discontinuous points depend on the left hand limits (see [3, 4, 6-8, 10-14, 16-23] for details). For example, D. S. Borysenko [3] considered the following integral inequality with impulsive effect

$$u(t) \le a(t) + \int_{t_0}^t f(s)u(s)ds + \sum_{t_0 < t_i < t} \alpha_i u^r(t_i - 0),$$

and gave an estimate of unknown function; in [8], G. Iovane studied the following integral inequalities

$$\begin{aligned} u(t) &\leq a(t) + \int_{t_0}^t f(s)u(\lambda(s))ds + \sum_{t_0 < t_i < t} \alpha_i u^r(t_i - 0), \\ u(t) &\leq a(t) + q(t) \left[\int_{t_0}^t f(s)u(\alpha(s))ds + \int_{t_0}^t f(s) \int_{t_0}^s g(t)u(\tau(t))dtds \right. \\ &+ \sum_{t_0 < t_i < t} \alpha_i u^r(t_i - 0) \right]; \end{aligned}$$

in [20], Wusheng Wang gave the upper bound for the nonlinear inequality of the form

$$v^{p}(t) \leq A_{0}(t) + \frac{p}{p-q} \int_{t_{0}}^{t} f(s)v^{q}(\tau(s))ds + \sum_{t_{0} < t_{i} < t} \alpha_{i}v^{q}(t_{i}-0).$$

As we know, most of phenomena occur in natural world are not sudden changed, thus the impulsive differential equations with integral jump conditions are more accurate than impulsive differential equations with stationary discontinuous points in characterizing the nature.

In paper [18], the authors investigated the following integral inequality

$$m(t) \le c + \int_{t_0}^t p(s)m(s)ds + \sum_{t_0 < t_k < t} \beta_k m(t_k) + \sum_{t_0 < t_k < t} \alpha_k \int_{t_k - \tau_k}^{t_k - \sigma_k} m(s)ds, \quad (1.1)$$

and obtained the estimation of m(t):

$$m(t) \le c \prod_{t_0 < t_k < t} \left[(1 + \beta_k) e^{\int_{t_{k-1}}^{t_k} p(\tau) d\tau} + \alpha_k \int_{t_k - \tau_k}^{t_k - \sigma_k} e^{\int_{t_{k-1}}^{s} p(\tau) d\tau} ds \right] e^{\int_{t_{k-1}}^{t} p(\tau) d\tau}.$$
(1.2)

Using the method of successive iteration, the authors in paper [16] researched some new nonlinear impulsive differential inequalities and integral inequalities with integral jump conditions.

Motivated by the above mentioned papers, we will investigate some more generalized integral inequalities with integral jump conditions, and give the upper-bound estimate of unknown functions firstly, then we use the new built inequalities to investigate the boundedness of solutions for impulsive differential equations with integral jump conditions at the discontinuous points.

2. New integral inequalities with integral jump conditions

Firstly, we give some auxiliary lemmas which are important in the proofs of the main results.

Lemma 2.1. If $z(t) \in C[t_0, b)$ such that

$$\begin{cases} z'(t) \le p(t)z(t) + q(t), \\ z(t_0) \le z_0, \end{cases}$$

where $p(t), q(t) \in C[t_0, b)$, then

$$z(t) \le e^{\int_{t_0}^t p(s)ds} \left[z_0 + \int_{t_0}^t q(s) e^{-\int_{t_0}^s p(\tau)d\tau} ds \right].$$

Particularly, $z(t_0) = 0$ implies that

$$z(t) \le \int_{t_0}^t q(s) e^{\int_s^t p(\tau) d\tau} ds$$

By the Young inequality (see [5] for details), we have the following lemma.

Lemma 2.2. Let C(t) and x(t) be nonnegative functions, let $0 < \lambda < 1$ be a real number. Then for any positive function K(t),

$$Cx^{\lambda} \le \lambda K^{\lambda - 1} C^{\alpha} x + (1 - \lambda) K^{\lambda} C^{\beta},$$

where α and β are nonnegative constants satisfying

$$\lambda \alpha + (1 - \lambda)\beta = 1.$$

Throughout this paper, we always assume that $0 \leq t_0 < t_1 < t_2 < \cdots$, $\lim_{k\to\infty} t_k = +\infty$, $\mathbb{R}_+ = [0, +\infty)$, $I \subset \mathbb{R}$. $x(t) : [t_0, \infty) \to \mathbb{R}_+$ is a continuous function for $t \neq t_k$, $x(0^+)$, $x(t_k^-)$ and $x(t_k^+)$ exist, $x(t_k^-) = x(t_k)$, $k = 1, 2, \cdots$, i.e., x(t) is left-continuous at t_k , $k = 1, 2, \cdots$.

Theorem 2.1. Suppose that x(t) is left-continuous at t_k and satisfies

$$x(t) \le a(t) + b(t) \int_{t_0}^t p(s)x(s)ds + \sum_{t_0 < t_k < t} \alpha_k x(t_k) + \sum_{t_0 < t_k < t} C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} x(s)ds, \quad (2.1)$$

where $a(t), b(t), p(t) \in C([t_0, \infty), \mathbb{R}_+), \alpha_k \ge 0, C_k \ge 0, 0 \le \sigma_k \le \tau_k \le t_k - t_{k-1}$ are constants. Then for $t \in (t_k, t_{k+1}]$,

$$x(t) \le a_k(t) + b(t) \int_{t_k}^t p(s) a_k(s) e^{\int_s^t p(\tau)b(\tau)d\tau} ds,$$
(2.2)

where

$$a_{k}(t) = a(t) + \sum_{t_{0} < t_{k} < t} \alpha_{k} a_{k-1}(t_{k}) + \sum_{t_{0} < t_{k} < t} (b(t) + \alpha_{k} b(t_{k})) \int_{t_{k-1}}^{t_{k}} p(s) a_{k-1}(s) e^{\int_{s}^{t_{k}} p(\tau)b(\tau)d\tau} ds + \sum_{t_{0} < t_{k} < t} C_{k} \int_{t_{k} - \tau_{k}}^{t_{k} - \sigma_{k}} \left[a_{k-1}(s) + b(s) \int_{t_{k-1}}^{s} p(v) a_{k-1}(v) e^{\int_{v}^{s} p(\tau)b(\tau)d\tau} dv \right] ds,$$

$$(2.3)$$

with $a_0(t) \equiv a(t)$.

Proof. For $t \in [t_0, t_1]$, we have that

$$x(t) \le a(t) + b(t) \int_{t_0}^t p(s)x(s)ds.$$
 (2.4)

Let $y_1(t) = \int_{t_0}^t p(s)x(s)ds$, then $y_1(t_0) = 0$, $x(t) \le a(t) + b(t)y_1(t)$, $y_1'(t) = p(t)x(t) \le p(t)b(t)y_1(t) + p(t)a(t)$. Hence

$$y_1(t) \le \int_{t_0}^t p(s)a(s)e^{\int_s^t p(\tau)b(\tau)d\tau}ds.$$
 (2.5)

When $t \in (t_1, t_2]$, we have

$$\begin{aligned} x(t) &\leq a(t) + b(t) \int_{t_0}^t p(s)x(s)ds + \alpha_1 x(t_1) + C_1 \int_{t_1 - \tau_1}^{t_1 - \sigma_1} x(s)ds \\ &= [a(t) + \alpha_1 a(t_1)] + [b(t) + \alpha_1 b(t_1)] \int_{t_0}^{t_1} p(s)a(s)e^{\int_s^{t_1} p(\tau)b(\tau)d\tau}ds \\ &+ C_1 \int_{t_1 - \tau_1}^{t_1 - \sigma_1} \left[a(s) + b(s) \int_{t_0}^s p(\nu)a(\nu)e^{\int_{\nu}^s p(\tau)b(\tau)d\tau}d\nu \right] ds \\ &+ b(t) \int_{t_1}^t p(s)x_1(s)ds \\ &\triangleq a_1(t) + b(t) \int_{t_1}^t p(s)x(s)ds. \end{aligned}$$

Let $y_2(t) = \int_{t_1}^t p(s)x(s)ds$, we have by Lemma 2.2 that

$$x(t) \le a_1(t) + b(t) \int_{t_1}^t p(s) a_1(s) e^{\int_s^t p(\tau)b(\tau)d\tau} ds,$$
(2.6)

this shows that (2.2) holds for k = 1.

Now we assume that (2.2) holds for $t \in [t_0, t_k]$. This implies that for $t \in (t_{k-1}, t_k]$,

$$x(t) \le a_{k-1}(t) + b(t) \int_{t_{k-1}}^{t} p(s)a_{k-1}(s)e^{\int_{s}^{t} p(\tau)b(\tau)d\tau} ds,$$

where

$$a_{k-1}(t) = a(t) + \sum_{i=1}^{k-1} \alpha_i a_{i-1}(t_i) + \sum_{i=1}^{k-1} [b(t) + \alpha_i b(t_i)] \int_{t_{i-1}}^{t_i} p(s) a_{i-1}(s) e^{\int_s^{t_i} p(\tau) b(\tau) d\tau} ds + \sum_{i=1}^{k-1} C_i \int_{t_i - \tau_i}^{t_i - \sigma_i} \left[a_{i-1}(s) + b(s) \int_{t_{i-1}}^s p(\nu) a_{i-1}(\nu) e^{\int_{\nu}^s p(\tau) b(\tau) d\tau} d\nu \right] ds$$

Then for $t \in (t_k, t_{k+1}]$, we get

$$x(t) \le a(t) + b(t) \int_{t_0}^t p(s)x(s)ds + \sum_{i=1}^k \alpha_i x(t_i) + \sum_{i=1}^k C_i \int_{t_i - \tau_i}^{t_i - \sigma_i} x(s)ds$$

$$\begin{split} =& a(t) + b(t) \sum_{i=1}^{k} \int_{t_{i-1}}^{t_i} p(s)x(s)ds + \sum_{i=1}^{k} \alpha_i x(t_i) \\ &+ \sum_{i=1}^{k} C_i \int_{t_i - \tau_i}^{t_i - \sigma_i} x(s)ds + b(t) \int_{t_k}^{t} p(s)x(s)ds \\ \leq & a(t) + b(t) \sum_{i=1}^{k} \int_{t_{i-1}}^{t_i} p(s)a_{i-1}(s)e^{\int_{s}^{t_i} p(\tau)b(\tau)d\tau}ds \\ &+ \sum_{i=1}^{k} \alpha_i \left(a_{i-1}(t_i) + b(t_i) \int_{t_{i-1}}^{t_i} p(s)a_{i-1}(s)e^{\int_{s}^{t_i} p(\tau)b(\tau)d\tau}ds \right) \\ &+ \sum_{i=1}^{k} C_i \int_{t_i - \tau_i}^{t_i - \sigma_i} [a_{i-1}(s) \\ &+ b(s) \int_{t_{i-1}}^{s} p(\nu)a_{i-1}(\nu)e^{\int_{\nu}^{s} p(\tau)b(\tau)d\tau}d\nu \right] ds + b(t) \int_{t_k}^{t} p(s)x(s)ds \\ = & a_k(t) + b(t) \int_{t_k}^{t} p(s)x(s)ds. \end{split}$$

Hence we have for $t \in (t_k, t_{k+1}]$,

$$x(t) \le a_k(t) + b(t) \int_{t_k}^t p(s)a_k(s)e^{\int_s^t p(\tau)b(\tau)d\tau}ds$$

where

$$\begin{aligned} a_k(t) &= a(t) + \sum_{t_0 < t_k < t} \alpha_k a_{k-1}(t_k) \\ &+ \sum_{t_0 < t_k < t} [b(t) + \alpha_k b(t_k)] \int_{t_{k-1}}^{t_k} p(s) a_{k-1}(s) e^{\int_s^{t_k} p(\tau) b(\tau) d\tau} ds \\ &+ \sum_{t_0 < t_k < t} C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} \left[a_{k-1}(s) + b(s) \int_{t_{k-1}}^s p(\nu) a_{k-1}(\nu) e^{\int_{\nu}^s p(\tau) b(\tau) d\tau} d\nu \right] ds. \end{aligned}$$

This completes the proof of Theorem 2.1 by the mathematical induction. Corollary 2.1. Suppose that $\alpha_k \equiv 0$ in (2.1), i.e.,

$$x(t) \le a(t) + b(t) \int_{t_0}^t p(s)x(s)ds + \sum_{t_0 < t_k < t} C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} x(s)ds,$$

then for $t \in (t_k, t_{k+1}]$,

$$x(t) \leq \widetilde{a}_k(t) + b(t) \int_{t_k}^t p(s) \widetilde{a}_k(t) e^{\int_s^t p(\tau)b(\tau)d\tau} ds,$$

where

$$\widetilde{a}_k(t) = a(t) + b(t) \sum_{t_0 < t_k < t} \int_{t_{k-1}}^{t_k} p(s) a_{k-1}(s) e^{\int_s^{t_k} p(\tau) b(\tau) d\tau} ds$$

$$+\sum_{t_0 < t_k < t} C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} [\widetilde{a}_{k-1}(s) + b(s) \int_{t_{k-1}}^s p(\nu) \widetilde{a}_{k-1}(\nu) e^{\int_{\nu}^s p(\tau) b(\tau) d\tau} d\nu] ds$$

with $\widetilde{a_0}(t) \equiv a(t)$.

Next, we will give some nonlinear integral inequalities with integral jump conditions.

Theorem 2.2. We suppose that x(t) is left-continuous at t_k and satisfies

$$x(t) \le a(t) + b(t) \int_{t_0}^t \left[g(s)x(s) + h(s)x^{\lambda}(s) \right] ds + \sum_{t_0 < t_k < t} \alpha_k x(t_k)$$

+
$$\sum_{t_0 < t_k < t} \int_{t_k - \tau_k}^{t_k - \sigma_k} x(s) ds,$$
(2.7)

where a(t), b(t), g(t), $h(t) \in C([t_0, \infty), \mathbb{R}_+)$, $\alpha_k \ge 0$, $C_k \ge 0$, $0 \le \sigma_k \le \tau_k \le t_k - t_{k-1}$ are constants. Then for $t \in (t_k, t_{k+1}]$, we have

$$x(t) \le a_k(t) + b(t) \int_{t_k}^t Q(s) e^{\int_s^t P(\tau) d\tau} ds,$$
 (2.8)

where

$$a_{k}(t) = a(t) + \sum_{t_{0} < t_{k} < t} \alpha_{k} a_{k-1}(t_{k})$$

$$+ \sum_{t_{0} < t_{k} < t} (b(t) + \alpha_{k-1}b(t_{k})) \int_{t_{k-1}}^{t_{k}} Q(s) e^{\int_{s}^{t_{k}} P(\tau)b(\tau)d\tau} ds$$

$$+ \sum_{t_{0} < t_{k} < t} C_{k} \int_{t_{k} - \tau_{k}}^{t_{k} - \sigma_{k}} \left[a_{k-1}(s) + b(s) \int_{t_{k-1}}^{s} Q(v) e^{\int_{\nu}^{s} P(\tau)d\tau} d\nu \right] ds,$$

$$P(t) = b(t) [g(t) + \lambda K^{\lambda - 1}(t)h^{\alpha}(t)],$$
(2.10)

and

$$Q(t) = a(t)[g(t) + \lambda K^{\lambda - 1}(t)h^{\alpha}(t)] + (1 - \lambda)K^{\lambda}(t)h^{\beta}(t).$$
(2.11)

Proof. For $t \in [t_0, t_1]$, we have that

$$x(t) \le a(t) + b(t) \int_{t_0}^t \left[g(s)x(s) + h(s)x^{\lambda}(s) \right] ds.$$
 (2.12)

Let $y_1(t) = \int_{t_0}^t \left[g(s)x(s) + h(s)x^{\lambda}(s) \right] ds$, then $y_1(t_0) = 0$, $x(t) \le a(t) + b(t)y_1(t)$. Hence we get

$$y'_{1}(t) = g(t)x(t) + h(t)x^{\lambda}(t)$$

$$\leq g(t)x(t) + \lambda K^{\lambda-1}(t)h^{\alpha}(t)x(t) + (1-\lambda)K^{\lambda}(t)h^{\beta}(t)$$

$$= [g(t) + \lambda K^{\lambda-1}(t)h^{\alpha}(t)] [a(t) + b(t)y_{1}(t)] + (1-\lambda)K^{\lambda}(t)h^{\beta}(t)$$

$$= P_{1}(t)y_{1}(t) + Q(t).$$
(2.13)

By Lemma 2.2, we have

$$y_1(t) \le \int_{t_0}^t Q(s) e^{\int_s^t p(\tau) d\tau} ds.$$
 (2.14)

Hence for $t \in (t_0, t_1]$, we obtain that

$$x(t) \leq a(t) + b(t) \int_{t_0}^t Q(s) e^{\int_s^t p(\tau) d\tau} ds$$

Now for $t \in (t_1, t_2]$,

$$\begin{split} x(t) \leq & a(t) + b(t) \int_{t_0}^t \left[g(s)x(s) + h(s)x^{\lambda}(s) \right] ds + \alpha_1 x(t_1) + \int_{t_1 - \tau_1}^{t_1 - \sigma_1} x(s) ds \\ = & [a(t) + \alpha_1 a(t_1)] + [b(t) + \alpha_1 b(t_1)] \int_{t_0}^{t_1} Q(s) e^{\int_s^{t_1} p(\tau) d\tau} ds \\ & + \int_{t_1 - \tau_1}^{t_1 - \sigma_1} \left[a(s) + b(s) \int_{t_0}^s Q(\nu) e^{\int_{\nu}^s p(\tau) d\tau} d\nu \right] ds \\ & + b(t) \int_{t_1}^t \left[g(s)x(s) + h(s)x^{\lambda}(s) \right] \\ \triangleq & a_1(t) + b(t) \int_{t_1}^t \left[g(s)x(s) + h(s)x^{\lambda}(s) \right] ds. \end{split}$$

Similar calculation as (2.14) implies that

$$x(t) \le a_1(t) + b(t) \int_{t_1}^t Q(s) e^{\int_s^t p(\tau) d\tau} ds, t \in (t_1, t_2].$$

This means that (2.7) holds for k = 1. Suppose for $t \in [t_0, t_k]$, (2.7) holds, that is

$$x(t) \le a_{k-1}(t) + b(t) \int_{t_{k-1}}^{t} Q(s) e^{\int_{s}^{t} p(\tau) d\tau} ds,$$

where

$$a_{k-1}(t) = a(t) + \sum_{i=1}^{k-1} \alpha_i a_{i-1}(t_i) + \sum_{t_0 < t_k < t} (b(t) + \alpha_{k-1}b(t_k)) \int_{t_{k-1}}^{t_k} Q(s) e^{\int_s^{t_k} p(\tau)b(\tau)d\tau} ds + \sum_{t_0 < t_k < t} C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} \left[a_{k-1}(s) + b(s) \int_{t_{k-1}}^s Q(v) e^{\int_v^s p(\tau)d\tau} d\nu \right] ds,$$

Hence we have for $t \in (t_k, t_{k+1}]$,

$$\begin{aligned} x(t) \leq &a(t) + b(t) \left[\int_{t_0}^{t_1} Q(s) e^{\int_{s}^{t_1} p(\tau) d\tau} + \int_{t_1}^{t_2} Q(s) e^{\int_{s}^{t_1} p(\tau) d\tau} + \cdots \right. \\ &\left. + \int_{t_{k-1}}^{t_k} Q(s) e^{\int_{s}^{t_1} p(\tau) d\tau} \right] \end{aligned}$$

$$+ b(t) \int_{t_k}^t [g(s)x(s) + h(s)x^{\lambda}(s)]ds + (\alpha_1 x(t_1) + \dots + \alpha_k x(t_k))$$

+ $C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} x(s)ds$
= $a_k(t) + b(t) \int_{t_k}^t [g(s)x(s) + h(s)x^{\lambda}(s)] ds.$

Therefore, we have by Lemma 2.1 that

$$x(t) \le a_k(t) + b(t) \int_{t_k}^t Q(s) e^{\int_s^t p(\tau)d\tau} ds.$$

This completes the proof of Theorem 2.2.

Corollary 2.2. If $a(t) \equiv a$ and $b(t) \equiv 1$ in Theorem 2.2, we have the estimate

$$x(t) \le \hat{a}_k + \int_{t_k}^t \hat{Q}(s) e^{\int_s^t \hat{P}(\tau) d\tau} ds \text{ for } t \in (t_k, t_{k+1}],$$
(2.15)

$$\begin{split} \hat{a}_{k} = & a + \sum_{t_{0} < t_{k} < t} (\alpha_{k} + C_{k}(\tau_{k} - \sigma_{k})) \\ & + \sum_{t_{0} < t_{k} < t} (1 + \alpha_{k-1}) \int_{t_{k-1}}^{t_{k}} \hat{Q}(s) e^{\int_{s}^{t_{k}} \hat{P}(\tau) d\tau} ds \\ & + \sum_{t_{0} < t_{k} < t} C_{k} \int_{t_{k} - \tau_{k}}^{t_{k} - \sigma_{k}} \int_{t_{k-1}}^{s} \hat{Q}(v) e^{\int_{\nu}^{s} \hat{P}(\tau) d\tau} d\nu ds, \end{split}$$

and

$$\hat{P}(t) = g(t) + \lambda K^{\lambda - 1}(t)h^{\alpha}(t), \\ \hat{Q}(t) = a[g(t) + \lambda K^{\lambda - 1}(t)h^{\alpha}(t)] + (1 - \lambda)K^{\lambda}(t)h^{\beta}(t).$$

3. Boundedness of solutions for impulsive differential equations

Consider the following impulsive differential equation

$$\begin{cases} x'(t) = H(t, x(t), x^{\lambda}(t)), x \neq t_k, \\ x(t_k^+) = \alpha_k x(t_k) + C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} x(s) ds, \end{cases}$$
(3.1)

where $\alpha_k \ge 0$, $C_k \ge 0$, $0 \le \sigma_k \le \tau_k \le t_k - t_{k-1}$, $0 < \lambda < 1$ are constants.

Theorem 3.1. If there exists nonnegative continuous functions g(t) and h(t) such that

$$|H(t, u, v)| \le g(t)|u| + h(t)|\nu|^{\lambda} \text{ for } t \in [t_0, \infty),$$
(3.2)

and

$$\sum_{k} [\alpha_{k} + C_{k}(\tau_{k} - \sigma_{k})] < \infty,$$

$$\sum_{k} (1 + \alpha_{k}) \int_{t_{k-1}}^{t_{k}} Q(s) e^{\int_{s}^{t_{k}} \hat{P}(\tau)d\tau} ds < \infty,$$

$$\sum_{k} C_{k} \int_{t_{k} - \tau_{k}}^{t_{k} - \sigma_{k}} \int_{t_{k-1}}^{s} \hat{Q}(\nu) e^{\int_{\nu}^{s} \hat{P}(\tau)d\tau} d\nu ds < \infty,$$

$$\lim_{t \to \infty} \int_{t_{0}}^{t} \hat{Q}(s) e^{\int_{s}^{t} \hat{P}(\tau)d\tau} ds < \infty,$$
(3.3)

where $\hat{P}(t)$ and $\hat{Q}(t)$ are defined as in Corollary 2.2, then all solutions of (3.1) are bounded.

Proof. Given arbitrarily initial value x_0 , we consider the following initial value problem

$$\begin{cases} x'(t) = H(t, x(t), x^{*}(t)), x \neq t_k, \\ x(t_0) = x_0, \\ x(t_k^+) = \alpha_k x(t_k) + C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} x(s) ds. \end{cases}$$

Since the initial value problem is equivalent to integral equation

$$x(t) = x_0 + \int_{t_0}^t H(s, x(s), x^{\lambda}(s)) ds + \sum_{t_0 < t_k < t} \alpha_k x(t_k) + \sum_{t_0 < t_k < t} C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} x(s) ds,$$
(3.4)

we can obtain the following estimate easily:

$$\begin{aligned} |x(t)| \leq &|x_0| + \int_{t_0}^t |H(s, x(s), x^{\lambda}(s))| ds + \sum_{t_0 < t_k < t} \alpha_k |x(t_k)| \\ &+ \sum_{t_0 < t_k < t} \int_{t_k - \tau_k}^{t_k - \sigma_k} |x(s)| ds \\ \leq &|x_0| + \int_{t_0}^t \left[g(s) |x(s)| + h(s) |x^{\lambda}(s)| \right] ds + \sum_{t_0 < t_k < t} \alpha_k |x(t_k)| \\ &+ \sum_{t_0 < t_k < t} \int_{t_k - \tau_k}^{t_k - \sigma_k} |x(s)| ds. \end{aligned}$$
(3.5)

Now an application of Corollary 2.2 implies the estimate

$$|x(t)| \le \hat{a}_k + \int_{t_k}^t \hat{Q}(s) e^{\int_s^t \hat{P}(\tau) d\tau} ds \text{ for } t \in (t_k, t_{k+1}],$$

here \hat{a}_k is defined by

$$\begin{aligned} \hat{a}_k = & |x_0| + \sum_{t_0 < t_k < t} (\alpha_k + C_k(\tau_k - \sigma_k)) \\ & + \sum_{t_0 < t_k < t} (1 + \alpha_{k-1}) \int_{t_{k-1}}^{t_k} \hat{Q}(s) e^{\int_s^{t_k} \hat{P}(\tau) d\tau} ds \end{aligned}$$

+
$$\sum_{t_0 < t_k < t} C_k \int_{t_k - \tau_k}^{t_k - \sigma_k} \int_{t_{k-1}}^s \hat{Q}(v) e^{\int_{\nu}^s \hat{P}(\tau) d\tau} d\nu ds,$$

since the series are convergent, and $\limsup_{t\to\infty} \int_{t_0}^t \hat{Q}(s) e^{\int_s^t \hat{P}(\tau)d\tau} ds < \infty$, we obtain that x(t) is bounded, by the arbitrarily of initial value x_0 , we see that all solutions are bounded. This completes the proof.

4. Conclusions

In this content, we give some new integral inequalities with integral jump conditions and obtain the boundedness for impulsive differential equations (The impulsive effects of these differential equations are of interval jump type, rather than at some points). New impulsive integral inequalities with weak singular kernels and their applications to fractional differential equations are still open and we will focus on the open problem in the future study.

References

- D. D. Bainov and P. S. Simeonov, Impulsive Differential Equations: Periodic Solutions and Applications, Longman Scientific Technical, Harlow, 1993.
- [2] D. D. Bainov and P. S. Simeonov, Impulsive Differential Equations: Asymptotic Properties of the Solutions, World Scientific, Singapore, 1995.
- [3] D. S. Borysenko, About one integral inequality for piece-wise continuous functions, Proceedings of X International Kravchuk Conference, kyiv, 2004, 323.
- [4] S. Deng and C. Prather, Generalization of an impulsive nonlinear singular Gronwall-Bihari inequality with delay, J. Pure Appl. Math., 2008, 9(2), Art. 34.
- [5] D. J. Garling, Inequalities, A Journey into Linear Analysis, Cambridge University Press, 2007.
- [6] J. Gu and F. Meng, Some new nonlinear Volterra-Fredholm type dynamic integral inequalities on time scales, Appl. Math. Comput., 2014, 245, 235–242.
- [7] S. Hristova, Nonlinear delay integral inequalities for piecewise continuous functions and applications, J. Inequal. Pure Appl. Math., 2004, 5(4), Art. 88.
- [8] G. Iovane, Some new integral inequalities of Bellman-Bihari type with delay for discontinuous functions, Nonlinear Analysis, 2007, 66(2), 498–508.
- [9] V. Lakshmikantham, D. D. Bainov and P. S. Simeonov, *Theory of Impulsive Differential Equations*, World Scientific, Singapore, 1989.
- [10] H. Liu and F. Meng, Some new nonlinear integral inequalities with weakly singular kernel and their applications to FDEs, J. Inequal. Appl., 2015, 2015, 209.
- [11] J. Li, On some new impulsive integral inequalities, J. Inequal. Appl., 2008, 8, 312–395.
- [12] L. Li, F. Meng and L. He, Some generalized integral inequalities and their applications, J. Math. Anal. Appl., 2010, 372(1), 339–349.

- [13] L. Li, F. Meng, and P. Ju, Some new integral inequalities and their applications in studying the stability of nonlinear integro differential equations with time delay, J. Math. Anal. Appl., 2011, 377, 853–862.
- [14] I. M. Stamova, Lyapunov method for boundedness of solutions of nonlinear impulsive functional differential equations, Appl. Math. Comput., 2006, 177, 714–719.
- [15] A. M. Samoilenko and N. A. Perestyuk, *Impulsive Differential Equations*, World Scientific, Singapore, 1995.
- J. Shao and F. Meng, Nonlinear impulsive differential and integral inequalities with integral jump conditions, Adv. Diff. Eqs, 2016, 2016(112).
 DOI: 10.1186/s13662-016-0841-3.
- [17] N. E. Tatar, An impulsive nonlinear singular version of the Gronwall-Bihari inequality, J. Inequal. Appl., 2006, 34(1), 127–155.
- [18] P. Thiramanus and J. Tariboon, Impulsive differential and impulsive integral inequalities with integral jump conditions, J. Inequal. Appl., 2012, 2012, 1–25.
- [19] H. Wang and C. Ding, A new nonlinear impulsive delay differential inequality and its applications, J. Inequal. Appl., 2011, 2011(1), 1–8.
- [20] W. Wang, Stability of solutions of nonlinear neutral differential equations with piecewise constant delay and their discretizations, Appl. Math. Comput., 2013, 219, 4590–4600.
- [21] R. Xu and F. Meng, Some new weakly singular integral inequalities and their applications to fractional differential equations, J. Inequal. Appl., 2016, 2016, 78.
- [22] Z. Yuan, X. Yuan, F. Meng and H. Zhang, Some new delay integral inequalities and their applications, Appl. Math. Comput., 2009, 208, 231–237.
- [23] Z. Zheng, X. Gao and J. Shao, Some new generalized retarded inequalities for discontinuous functions and their applications, J. Inequal. Appl., (2016) 2016:7.